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TR FESTECER (FRAR) TSRS

& RIS - FARSEE B | B | 8 & & =
EEHEE 1,847,488
AR 39,536
SRR 1,842,124 x 78.1% - 5,722 1,432,976
—IREHERGE 1,847,488 + 39,536 + 1,432,976 3,320,000
ETZRIm 1,414,600 + 88,911 1,503,511
EEAGE 1,414,600
BEERE 88,911
Z DT 1,414,600 x 53.85% (35% + (1-35%)) 761,762
FB IR 1,503,511 + 761,762 2,265,273
—WEREF 2,265,273 x 53.85% (35% + (1-35%)) - 5,122 1,214,727
T SHERBE 2,265,273 + 1,214,727 3,480,000
HERHH 3,320,000 + 3,480,000 6,800,000
HERSHSE 6,800,000 X 10.00% 680,000
FEEBTHRKER (L2 BIRERE 6,800,000 + 680,000 7,480,000




REWER FSEH M ER (F RS TBERE
% 1 g - TR BAfif B2 B i & # W E
AR 3,390,535
e 1,887,024
EEAEE 1,847,488
BEEAGE 1,847,488
H T KEGA 444,710
1 BEEKAERE-HME ) 1.00 88,830 88,830
2 HFOKGIEBAI(BERKAIED A 11.00 25,633 281,963
3 EBKERE . 9.00 8,213 73,917
KEREE . 59,916
4 KEHHERK 2.00 7,508 15,016
5 KEDH 2.00 22,450 44,900
BEREE 1,342,862
6 BERSHEA 1.00 | 268,572 268,572
7 ERMEERFHE 2.00 | 537,145 1,074,290




REWER FSEH M ER (F RS TBERE
% 1 g - TR BAfif B2 B i & # W E
D 39,536
REEE 39,536
REEE 39,536
8 IMEREE(HEREEER) \ 1.00| 39,536 39,536
FRATEAEER = 1,503,511
B R 1,503,511
BEEAGE 1,414,600
SHE - #fm 443,700
9 EE-#fm 1.00| 443,700 443,700
TERETE & 427,800
10 IEHEHh 1.00| 427,800 427,800
AR = 294,000
11 EBTRREER S 1.00] 294,000 294,000
T




TBE R B STIRIBKER (E 2 A s TEREHE

% ) BE-RDE AL # 8 & ff & # wmE

e 229,900
12 Stk 1.00 84,500 84,500

13 HfERE . 1.00 60,900 60,900

14 =HEE®RS . 1.00 84,500 84,500
NEAFBRmDIERL 19,200
15 RFEARRMmOIER 1.00 19,200 19,200
[=EE2 5= & 88,911
BT RmERE 80,000
16 BFHRmIERK 1.00 80,000 80,000
W& BE & 8,911
17 WREIGEE (EARREFER) N 1.00 8,911 8,911

T




iz SHSEBM M OER (L2 AR B TRIRHAE

#5101
2 BELKAETERE - BE 1ERTHY
# n g - FRTE B B E B = H wE 5 &
S ERRER
A 1.00 53,200 53,200
MERES
A 1.00 31,400 31,400
% 5.00 84,600 4,230
a5t 88,830
5.2
FBF5 T AKAEDR (B 5eKAIED) I=ED,
& fn R -IRTA B fr 8= i & ' HWE & &
B FAE AT
A 0.30 53,200 15,960
MERES
A 0.30 31,400 9,420
% 1.00 25,380 253
=51 25,633
H#5:3
2 B ZKERE 1EHY
# n FE - TIRTA B fI 8= L= i & B wWE & &
B FAE AT
A 0.01 53,200 532
FEMERES
A 0.10 41,500 4,150
MERES
A 0.10 31,400 3,140
% 5.00 7,822 391
=5 8,213




iz SHSEBM M OER (L2 AR B TRIRHAE

&5:4
B KB I=ED,
& G g - FRTE B B E B = H wE 5 &
FEMERES
A 0.10 41,500 4,150
MERES
A 0.10 31,400 3,140
% 3.00 7,290 218
a5t 7,508
H#HE5
B KEDH IEED)
& fn R -FRTE B N2 B & % wE B =
FTRIDLAF
=] 1.00 3,050 3,050
HIDLAFY
[=] 1.00 3,100 3,100
HIVIILAT
=] 1.00 3,050 3,050
NRTRITLAF
=] 1.00 3,050 3,050
B 4>
[=] 1.00 2,650 2,650
IREEIKFRA A
[=] 1.00 2,050 2,050
R A
[=] 1.00 2,750 2,750
Sl
[=] 1.00 2,750 2,750
&&t 22,450




SHSEBM M OER (L2 AR B TRIRHAE

£5:6
2 BRERE AT 1E1%Y
& 5 RS -ARTE B 41 B = B & E HE B =
FEMERES
A 2.50 41,500 103,750
HEFAES
A 5.00 31,400 157,000
% 3.00 260,750 7,822
a5t 268,572
=7
2N EMEERE RS [IEED)
4 g RS -IRTE B 41 w2 B & E HE B =
FEMERES
A 5.00 41,500 207,500
HEREES
A 10.00 31,400 314,000
% 3.00 521,500 15,645
&&t 537,145




iz

SHSEBM M OER (L2 AR B TRIRHAE

#H#S:8
B fRE B (MhE A ES) IEED)
& G R -IRTE B A1 B E B = H wE 5 &
RE&ERXEE
= 1.00 39,536 39,536
&t 39,536
H#HS9
BF 5 e - #E IEED)
G R -IRTE B A1 B E B = H wE 5 &
TEEED
A 2.00 64,800 129,600
FEm(A)
A 4.50 57,000 256,500
FER(C)
A 1.50 38,400 57,600
&&t 443,700




SHSEBM M OER (L2 AR B TRIRHAE

%=:10
B TR/ 2 IEED)
& G R -IRTE B A1 B E B = H wE 5 &
FEREM
A 1.00 64,800 64,800
RER(A)
A 3.00 57,000 171,000
AR (C)
A 5.00 38,400 192,000
&t 427,800
511
B TSR EIEER IEED)
fn R -FRTE B N2 B & % wE B =
TEEED
A 0.50 64,800 32,400
FEm(A)
A 2.00 57,000 114,000
FEm(B)
A 1.50 47,200 70,800
FER(C)
A 2.00 38,400 76,800
&&t 294,000
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SHSEBM M OER (L2 AR B TRIRHAE

=212
B BRI I=ED,
n R -IRTE B A1 B E B = H wE 5 &
TEEED
A 0.50 64,800 32,400
RER(A)
A 0.50 57,000 28,500
ER(B)
A 0.50 47,200 23,600
&t 84,500
%213
BF5: PEERE IIEED)
fn R -IRTA B fr 8= i & ' HWE & &
TEEED
A 0.50 64,800 32,400
FEm(A)
A 0.50 57,000 28,500
&&t 60,900
H#5:14
2RISR E IIEED)
n FE - TIRTA B fI 8= L= i & B wWE & &
ETEEED
A 0.50 64,800 32,400
FEm(A)
A 0.50 57,000 28,500
FEm(B)
A 0.50 47,200 23,600
&&t 84,500




iz SHSEBM M OER (L2 AR B TRIRHAE

&=:15
BF5: N RRMDIER |Ee=1)
e n R -IRTE B A1 B E B = H wE 5 &
A 0.50 38,400 19,200
&t 19,200
=116
B EFHRRBIERK |Ee=1)
# n R -IRTE B A1 B E B = H wE 5 &
BT RRRATERK
= 1.00 80,000 80,000
&&t 80,000
&#5:117
B IRE B (EARSRETETS) IEED)
& fn R -IRTA B fr 8= i & ' HWE & &
= 1.00 8,911 8,911
=51 8,911




